QiD:1-
[n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eafaia vy & fr o Reeul & @ vy g
(?) & TUF W A Rl T H gET|

10| 4 | 15| 30

201 2 | 28
e |30 ?
Options:
1)42
2) 43
3)44
4) 48

Correct Answer: 44
Candidate Answer: 44

QiD:2-
How many quadrilaterals are there in the given figure?

& ME R F e A £

Options:
18

2)9
3)10

4)12
Correct Answer: 9
Candidate Answer: 9




QID:3-

A word is represented by only one sel of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘U’ can
be represented by 14, 95, etc., and ‘M’ can be represented by 23, 88, elc.
Similarly, you have to identify the set for the word “PARK”.

UF A hadl U HEIT-UE SRT i R §, oar 5 Tuwedt # &
et T & T o ) oot # Re ov dmraep 3WRT & o et
Ry oRfiw w &, ok & By ow & smeggt & ¥ anegel F Taew AR
Ui T HEIT 0 F 4 ¢ 3R IMARNHT 5 T 91 3 IR F TH IBW
P Ugel 3EH URh AR GG I TOEH WEAT ERT GRFAT oAbl B
SETEoT & forT Ul 14, 95, 3T gRT AT ST HehaT & Rl ‘M 9 23,
88, ¥Ifg ERT Gl S Wehel &1 JHT THE ¥ U U 3 TGU oeg
“PARK"” & T @9 # uga=e §1

Matrix-| Matrix-ll

Iyl gl
011[2[3] 4 5167|1819
o|jCl|uU|G|J|D S|A|V|K|T|H
1|S|F|J|N|U 6(L|{R|T|O|[N
2|Y|P(VIM|F 7{lr|jQw|Yy|P
3|I1|E|JA|C|H B8|F|H|R|M|S
4|1 TIK[D|Q|L g|U|G|A|Q|B

Options:
1) 21,55, 67,41

2) 79,55, 87,41
3)21,31,67,57

4)79,32,67,57
Correct Answer: 79, 55, 87, 41
Candidate Answer: 79, 55, 87, 41

QiD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o S Ao # @ 3W SR gl @ g
fora & oy amgpfa @fea




Options:

1)

2)

4)

pas 7o | (N8 D

Correct Answer:

=

D9

Candidate Answer:

pe

Q:5-
Which answer figure will complete the pattern in the
question figure?

BT O 3O HFA TH Hpiad & Tlasy @ g
HLON?

D




VTN !

Correct Answer:

)

Candidate Answer:

v

QiD:6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

aff U ZUUT @ AB 3@ UT T@r AT, ar & o
3¢ ApfaAl # A did W Apa W amela A
T ufafess aef?

&

ARk B




Options:
1)

c

S

2)

Q

&

4)

&

Correct Answer:

c

S

Candidate Answer:

c

o

Qi:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d=r F uH dploar # @ wgErR Fee @
AIZHL B dAT Wicld & g 9% fhd 39T g
Sar s geme

%




Options:

1)

2)

4)

o) el ) e

Correct Answer:

2

Candidate Answer:

25

DN

QID: 8 - If '-' means '+, 'x' means '+, '+ means '—' and '+' means ', then

9%6+36-4=?

Al '~ a7 37ef '+, 'x' a7 anef '+, '+ T aef =t e '+ T onef X g,

9%x6+36-4=?
Options:

1) 58

2) 38

3)40

4) 32

Correct Answer: 58
Candidate Answer: 58

QID:9-1f5+3+1=15and6+1+4=24,then4+3+0=2?

g 5+3+1=15qM6+1+4=248,AN4+3+0=2
Options:

14

2)12

3)0

4)8

Correct Answer: 0

Candidate Answer: 0




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Jelly
2. Jenny
3. Jewel
4. Jocks
5. Jiffy

frfafRa el @l 2reaemiar & o aret v & SIER |

1. Jelly
2. Jenny
3. Jewel
4. Jocks
5. Jiffy

Options:
1) 12345

2) 12354
3) 13254

4) 21354
Correct Answer: 12354
Candidate Answer: 12354

QID : 11 - In the following question, select the missing number from the given series.

121, 4,144, 9,169, 16, 196, ?

frafafea ver & fig 7 faeredt § & g sfes 719 AIfSg)

121, 4,144, 9,169, 16, 196, ?

Options:
1) 225

2)36
3)25

4) 40
Correct Answer: 25
Candidate Answer: 25

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
W, TQN,?
T iR o T 8, o 9 U ue g 81 Ry Y et # § a8 e fohed gy, St orgehA R g R

W, T,QN,?
Options:
1HJ

2) K

3)L

49HM
Correct Answer: K
Candidate Answer: K

QID : 13 - In the following question, select the odd word from the given alternatives.

frfefera wer & iy Mg feredt & @ fowm s &1 giAg)

Options:
1) Grass
g

2) Plant
dier

3) Tree

g8

4) Land

Correct Answer: Land

Candidate Answer: Land

QID : 14 - In the following question, select the odd number pair from the given alternatives.

e v 7 g 7y e 7 9 o e g &t gyl




Options:
1)7-52

2)11-124
3)12 - 147

4) 14 - 201
Correct Answer: 14 — 201
Candidate Answer: 14 — 201

QID : 15 - In the following question, select the odd letters from the given alternatives.

Pt v & Ry g Reedt & @ o sieri & gfg)

Options:
1) CDEH

2) JKLO
3) RSTW

4) EFGK
Correct Answer: EFGK
Candidate Answer: EFGK

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Biology, Science, Subject

a8 3 g it A=t g 7y anit & <fier & Feiey o wE g w1

Options:

1)

2

3

4

Correct Answer:

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.

Metal : Ore : : Paper:?

frferfaa mer & fig g fereredt & @ Heifda aree &6t gfAgl

T : 3TU¥h : © ehITST : ?



Options:
1) Flour
ki

2) Pulp
T

3) Brick
&

4) Seed
Eitc

Correct Answer: Pulp
Tt
Candidate Answer: Pulp

kS

QID : 18 - In the following question, select the related number from the given alternatives.

1:8::216:?

Frafafea vy A g 7g fared # 9 wefda 9w & gl
1:8::216:?

Options:

1) 343

2) 125

3)64

4) 729
Correct Answer: 343
Candidate Answer: 343

QID : 19 - In the following question, select the related letters from the given alternatives.

FA:CC::PX:?

FrafafeEa usr A g 77y faeredt @ 9 defda et &t gl
FA:CC::PX:?

Options:

1) KY

2)LY

3)MZ

4) KZ
Correct Answer: MZ
Candidate Answer: MZ

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

TOURNAMENT

frfeaa faehedt & @ ag rea gAY it feg 1Y 21es & S1ERT 3T TRINT ek g ST Sl HehdT|

TOURNAMENT

Options:
1) TORMENT

2) RENT
3) TOUR

4) TRAP
Correct Answer: TRAP
Candidate Answer: TRAP

QID : 21 - Pointing to a man, Heena said "he is the only son of wife of my father". How is the man related to Heena?

Tk qoN i SR Hoha et 8T, 21T 7 gt 2 "ag R fran oY ot ot gm0 21" 9% IR foe @ R e Haifda €2

Options:

1) Grandfather
<rar

2) Husband
i

3) Brother
uTg

4) Son
kel

Correct Answer: Brother




Candidate Answer: Brother

QID : 22 - Nayan remembers his examinations starts after 1 5™ August, while her mother remembers that his examinations starts before 18t August. On which date
of August does his examinations start?

T4 A1 15, & o IThT udteln 15 STd o 918 SR 8 W6l & Siafch IUhI ATdT i IT5 & foh ITH! TetT 18 ST § Uget SR g1 &1 &1 IHh UieT 3FTd & fohe fafd ot amker 82
Options:

116

2)17

3)160r17

16 3Uar 17

4)170r18

17 Yar 18

Correct Answer: 16 or 17
16 31yar 17

Candidate Answer: 16 or 17
16 31yar 17

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some yellow are small.
1. All small are red.

Conclusions:
I. Some red are yellow.
Il. Some small are yellow.

2 Ry g v & T FYA ok I 91 I HUAT W TR FS sy g 7Y &, gTcifes SH IR 719 aet § et &) wahdt 81 9t ey ug ofik iR FuffRa R R Ry g e
9 Ry, i3y g el & SR IR gRAETa ¢

hY:
| g A B 81
Il goft B a1t 81

e
. o ame die &1
Il. 3® 8k diat &1
Options:
1) Only conclusion (1) follows.
hae fFeny (1) TE 81
2) Only conclusion (11) follows.
hee frsend (1) 9t &1
3) Neither conclusion (1) nor conclusion (11) follows.
Tt e (1) =7 & freendf (1) w1 )1
4) Both conclusi%n follow.
|
Correct Answer: Both conclusion follow.

2t &t frreeed Wt &

Candidate Answer: Both conclusion follow.

gt gt e wel 81

QID : 24 - In a certain code language, "HAZE" is written as "ICCI". How is "SMOG" written in that code language?

e fAfE s oo &, "HAZE" @t "ICCI" foraT SITaT &1 39 s o1 & "SMOG" &t fohg TR forar sgm?
Options:
1) TORK
2) TORL
3) TNRK

4) TNSK
Correct Answer: TORK
Candidate Answer: TORK

QID : 25 - In a certain code language, "SIN" is written as "43" and "PEN" is written as "36". How is "TIP" written in that code language?

e fafre sl wrar &, "SIN' &t "43" a1 "PEN" &t "36" foraT STTaT §1 39 i e & "TIP" ot foh WepR foram sirgem?
Options:

1) 45

2) 46

3)44

4) 43

Correct Answer: 46

Candidate Answer: 46




QID : 26 - Which smallest number to be subtracted from 300, so that the resulting number is completely divisible by 9?

300 # Ot i <ft e SIET e werdt sy, aifes uRumd e 9 @ gofa: fanfea &t smg?

Options:

15

2)6

3)3

H1

Correct Answer: 3
Candidate Answer: 3

QID : 27 - What is the digit in unit’s place of the product 25x 252 x 372

25x 252 x 37 & T[UTThe! ohT SehTE ThT 3ich T &2
Options:

01

2)2

3)0

4)5

Correct Answer: 0

Candidate Answer: 0

QID : 28 - What is the value of 13 + 14 ....... 20?

13+14..... 20 FTAF AT §?

Options:
1)182

2) 144
3)132

4)124
Correct Answer: 144
Candidate Answer: 132

QID:29-

. 1 3 2 1
] hd o AP
What is the value 01‘87 +57 +47 +37.

1 .3 2 _1
8- +5> +4% +3_ I AT FwW L7
7797757 703 &

Options:
1)22

2)23
3) 24

4) 21
Correct Answer: 21
Candidate Answer: 21

QID : 30 - A number when divided by 18 leaves remainder 15. What is the remainder when the same number is divided by 6?

eh AT ol 579 18 T T far Srar & ot SIwthet 15 T gia &1 St Ut ol 519 6 | AT & S, af Qrvthe @ gem?

Options:
1)3

2)2
3)1

4)4
Correct Answer: 3
Candidate Answer: 3

QID : 31 - If 123457Y is completely divisible by 8, then what will be the digit in place of Y?

I 123457Y, 8 T guia: Anfoid &, @t Y & T IR i 7 3fch Sgem?




Options:
14

2)5
3)8

46
Correct Answer: 6
Candidate Answer: 6

QID : 32 - P can do a piece of work in 36 days. If Q is 50% more efficient than P, then in how many days can Q do the same work?

P foneft onr ot 36 Rt & ok Tenan &1 Tl Q ot B e P & 50% 1fdes @, o3&t s ant Q e = & avamm?

Options:
1)18

2) 24
3)12
a2

Correct Answer: 24
Candidate Answer: 24

QID : 33 - P is twice as good as Q and together they finish a piece of work in 36 days. The number of days taken by P alone to finish the work?

P <t & e Q & gAY & T & <l i fonelt ol ot 36 Tt f g1 o wehdt &1 P S1dhett 9 & ahl et oA & o1 e Ireher 82

Options:

1) 48

2) 60

3) 54

472

Correct Answer: 54
Candidate Answer: 54

QID : 34 - If the diagonal of a square is 10 cm, then what is the area (in cmz) of the square?

af; fameft ot o1 farepof 10 S.aft. 8, o o or doromer (7412 ) o g2

Options:
1) 100

2) 50v2
3)50

4) 100v2
Correct Answer: 50
Candidate Answer: 50

QID : 35 - The marked price of an article is Rs 750 and a customer pays Rs 600 for it. What is the discount percentage?

Teh g T Sifehd He 750 ¥ § G Ueh UTgeh 39 folg 600 & a1 §1 T ufderd g2

Options:
1) 20

2) 30
3)15

410
Correct Answer: 20
Candidate Answer: 20

QID : 36 - The marked price of an article is 50% more than its cost price. If a discount of 10% is given, then what is the profit percentage?

Teh I%g ol Sifchd T I8 o e & 50% SHTAek 81 If& 10% <t e & S, df a1 ot Hfisrd T 82

Options:
1) 25

2)30
3)35

4) 20
Correct Answer: 35
Candidate Answer: 35




QID : 37 - Two numbers are in the ratio of 3 : 4. If 8 be subtracted from each, then the new ratio becomes 17 : 24. What are the two numbers?

S ey 3 : 4 SruTd A 1 A udes J 8 9T S |t AT SiguTe 17 : 24 g S 81 &l e e §7

Options:

1) 42 and 56
42 a1 56

2) 30 and 40
30 qur40

3) 45 and 60
45 321 60

4) 60 and 80
60 U1 80

Correct Answer: 42 and 56
42 U1 56

Candidate Answer: 42 and 56
42 ag1 56

QID:38-1f2/3 of P =1/5 of Q, then what is P: Q?

g P&12/3=QaHT 1/58, P : Q T gm?

Options:
1)3:5

2)3:10
3)3:7

4)3:9
Correct Answer: 3:10
Candidate Answer: 3:10

QID : 39 - The average of 6 numbers is 18. If one number is excluded, the average becomes 17. What is the excluded number?

6 TRETait ot ST 18 &1 IfE Yeh T bl geT &Y 1T, ot Siiaa 17 g1 SIIel &1 §eTs TS TRear ot 872

Options:
1)22

2)23
3)21

4) 20
Correct Answer: 23
Candidate Answer: 23

QID : 40 - If the ratio of the cost price and selling price of an article is 5 : 6, then what will be the profit percentage?

I Go %] & hd Hed T faehd Hed ol SI9UTd 52 6 &, df e Hfdsrd aar ghm?

Options:
1)10

2)12
3)15

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 41 - If the rice is sold at Rs 48 per kg, then there would be a 20% loss. To earn a profit of 20% what should be the price of rice (per kg)?

g Tract et 48 T ufa foh.am. Y &z @ =1 ST &, df 20% <t &1 g1 20% a1 7 vt et & g =maeT i e (e k.. fraeh g =nfe?

Options:
1)72

2)76
3)78

4) 84
Correct Answer: 72
Candidate Answer: 72

QID : 42 - When 80 is subtracted from 20% of a number, the result is 30. What is the value of the number?

foreft Tear & 20% H § 80 g W uRumy 30 e § oY Tt ol 7 T 8?7




Options:
1) 330
2) 440
3) 550
4) 220

Correct Answer: 550
Candidate Answer: 550

QID : 43 - A number is first decreased by 30% and then increased by 30%. If the number so obtained is 72 less than the original number, then what is the value of the
original number?

ek G i gt 30% T ST 8 iR R 30% w1 fan Sar 1 3 v TRear arafaes Gver @ 72 & 8, at ardfdeh Tt <l AT T gh?

Options:
1) 720
2) 800
3) 960
4) 1080

Correct Answer: 800
Candidate Answer: 800

QID : 44 - Speeds of a boat along the current and against the current are 16 km/hr and 12 km/hr respectively. What is the speed (in km/hr) of the current?

Teh 1a I T RT3 SIgeRet dT URT & Ufdegpet fem & shAsr: 16 .. /ger aur 12 foh . /der &1 e & vy (Rp.+h./ger 7) e &2

Options:
01

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: 2

QID : 45 - A person goes from point L to N and comes back. His average speed for the whole journey is 100 km/hr. If his speed while coming back from N to L is 65
km/hr, then what will be the speed of the person (in km/hr) while going from L to N?

Teh afeh foig L & N STIdT & T arus 11 ST &1 G2 a1 o forg Seeht sftaa 7ifcr 100 fos.#t./eer &1 afe N & L o 7 Iueht i 65 foh.#./€9er 8, df L & N deh ST A 39 eafeh ol 1T
(Re.#fY./der &) e gef?

Options:

1)135

2) 146.31

3) 150.62

4) 216.67

Correct Answer: 216.67

Candidate Answer: 216.67

QID : 46 - An amount invested at simple interest gives Rs 2550 interest at rate of 17% per annum in 3 years. What is the principal (in Rs)?

Teh SRIIY ATEROT TS UR et i STt & Sifeh 3 a6 & 17% Ut a9 i &2 § 2550 T &1 1T 3t 8| JeaeH (3 7) R §?

Options:

1) 4000

2) 5000

3) 6000

4) 4500

Correct Answer: 5000

Candidate Answer: 5000




QID: 47 -
The line chart given below shows the sales (in crores)
of company A and B from July to December.

dr fGw T Ymm R A g @ REeew @ ar
Fafadt A dur B $r ey (@0 &) = gerar mw §)

- Company A/ A " Company B /&9« B

e 250 - .
S E 200 | 170 170 /n
Q —
£k 150 {112 128 7~ 10547 175
g 100 == 130 145
ns 103
- =0 - 100
0 I\ T [“‘- [\ I\ 1
>2E @ @ @ 0 ]
TR iESElnd
= O 5] ) )
oa@E O 7 3F §
A p [
Month / #|18

The sales of company A in November is how much percent more than the sales of company B in November?

TR H1g A ot A Fi fareht Faver 718 & dhueit B &Y fasht @ fohas ufasra eifde 82
Options:
15

2)10
3)8

415
Correct Answer: 5
Candidate Answer: 5




QID : 48 -
The line chart given below shows the sales (in crores)
of company A and B from July to December.

dr fGw T Ymm R A g @ REeew @ ar
Fafadt A dur B $r ey (@0 &) = gerar mw §)

- Company A/ A " Company B /&9« B
T o 250 5%
E'E. 200 - 170 170 /:
Q —
£k 150 {112 128 7~ 10547 175
g 100 == 130 145
© 103
8E o 100

0 I.‘-. T ['--..._ [\ I\ 1
2F © @ @ @ @
ThEE 2 ﬁEEEEE

< (] © ] (U]

a@© " gl g

A p [
Month / #|18

The sales of company B is same in which two months?

o &Y #ET | dhurT B 6 farsht g9 @t 87
Options:

1) September and October

fOamR g srpeR

2) October and November

SRR T AR

3) August and November
SITET AT q%R

4) July and August

TS AT SR

Correct Answer: September and October
Rever auT SR

Candidate Answer: September and October
Rver auT arpeR




QID : 49 -

The line chart given below shows the sales (in crores)
of company A and B from July to December.

dr fGw T Ymm R A g @ REeew @ ar
Fafadt A dur B $r ey (@0 &) = gerar mw §)

fashy (+33 #)

Sales (In crores)

- Company A/ A " Company B /&9« B

250 - 205
200 - 170 170 /u
150 { 112 125 7" 1052175
100 | t="¢ 130 145 "y
110 103
50 | 100
0 |\ T [--..‘_ [\ |\ 1
i 3,585, B
ThEEfpapips
IPEESR ok 8
% O o i
) = ]

Month / #|18

What is the average sale (in crore Rs) of company B in the given six months?

Rq g w8 7d A du B & sitaa Rt (et oud B) @ 82

Options:
1) 143
2) 140
3) 154
4)135

Correct Answer: 143
Candidate Answer: 143




QID:50-
The line chart given below shows the sales (in crores)
of company A and B from July to December.

dr fGw T Ymm R A g @ REeew @ ar
FUTrAr A dr B #T & (w0 H) Fr gatar m@m g

- Company A/ A " Company B /&9« B

T o 250 205
S . 200 - 170 170

Q

_gﬁwo—

§§ 100

-]

w 50 -

0 I\ T [\ [\ I\ 1
>2E @ @ @ 0 ]
SEIEZpifiy s

TP LEER SE 8
& © o O
) = (]
Month / #|18

For how many months the sales of company B is more than the sales of company A?

fora) wgHT & forg ehurft B et fareht ehuft A <t fcht @ rfdren 82

Options:
1)2

2)3
31

44
Correct Answer: 3
Candidate Answer: 3

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Elderly people can have a normal (1)/ body temperature below 98.6 so (2)/ the younger population can have a little higher temperature. (3)/ No Error (4)

Options:

11

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

We are at that critical juncture when (1)/we are facing a serious issue (2)/with the image perception of the railways. (3)/ No Error (4)
Options:

1)1

2)2

3)3

494

Correct Answer: 1

Candidate Answer: 1

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Everything is bright and beautiful, ?

— ——— -
[ e A S e e A o e T



Options:
1) isn't he

2)isn'tit
3) isn't she
4) isn't him

Correct Answer: isn't it
Candidate Answer: isn't it

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

They are terribly busy with work.

Options:
1) his

2) their
3) them

4) her
Correct Answer: their
Candidate Answer: their

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lean

Options:
1) Fat

2) Thin
3) Obese

4) Plump
Correct Answer: Thin
Candidate Answer: Thin

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lurk

Options:
1) Ignore
2) Rush

3) Come
4) Sneak

Correct Answer: Sneak
Candidate Answer: Ignore

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Groan

Options:
1) Grumble

2) Agreement
3) Liking

4) Regard
Correct Answer: Grumble
Candidate Answer: Grumble

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lethargic

Options:
1) Lazy

2) Sluggish
3) Lively

4) Dull
Correct Answer: Lively
Candidate Answer: Lively




QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Defend

Options:

1) Uphold

2) Surrender
3) Secure

4) Resist

Correct Answer: Surrender
Candidate Answer: Surrender

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Command

Options:
1) Opposition

2) Call
3) Dictate

4) Notification
Correct Answer: Opposition
Candidate Answer: Opposition

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Rest on one's laurels

Options:

1) To retire from active life
2) To remember thing clearly
3) Not to come to point

4) Defend from enemies

Correct Answer: To retire from active life
Candidate Answer: To retire from active life

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Fallout

Options:
1) To admire

2) Declared dead
3) To love someone

4) To quarrel
Correct Answer: To quarrel
Candidate Answer: To admire

QID : 63 - Improve the bracketed part of the sentence.

The main (causes of this failure is) inadequate ability growth and character development.

Options:
1) causes of these failure is

2) cause of this failure are
3) causes of this failure are

4) No improvement
Correct Answer: causes of this failure are
Candidate Answer: No improvement

QID : 64 - Improve the bracketed part of the sentence.

If they (did not know their ability) and they do not know which sports they want to do, they will not learn to play any sports and will not succeed.
Options:

1) do not know their ability

2) would not know their ability

3) did not know their capability

4) No improvement

Correct Answer: do not know their ability
Candidate Answer: do not know their ability

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Art or craft making skill with hand.




Options:
1) Hovercraft

2) Handicraft
3) Statecraft

4) Spacecraft
Correct Answer: Handicraft
Candidate Answer: Handicraft

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Insufficient feeding or nourishing.

Options:
1) Abduction

2) Abolition
3) Addiction

4) Malnutrition
Correct Answer: Malnutrition
Candidate Answer: Malnutrition

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Defecient

2) Deficeint
3) Deficient

4) Deficent
Correct Answer: Deficient
Candidate Answer: Deficient

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Chanlenge

2) Chalenge
3) Challainge

4) Challenge
Correct Answer: Challenge
Candidate Answer: Challenge

QID : 69 - Rearrange the parts of the sentence in correct order.

His vision

P: hardly related to

Q: and goals were

R: the reality around him

Options:
1) PRQ

2) QPR
3) PQR

4) RPQ
Correct Answer: QPR
Candidate Answer: QPR

QID : 70 - Rearrange the parts of the sentence in correct order.

Pollution needs

P: otherwise our future generations
Q: to be tackled seriously

R: would suffer a lot

Options:

1) PRQ

2) QRP

3) RPQ

4) QPR

Correct Answer: QPR
Candidate Answer: QPR




QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The thoughts, behavior and tastes of fashion, music, television and other of life of the masses are often seen having a impact on the living of the
society. We tend to get influenced by the lifestyles of our peer group. The changing ways of life of our peers often ___ us to change our ways of looking at life and
leading it. It's a human tendency to do what the crowd does. Few have the courage to resist the peer pressure and be their own selves rather than being one among
the lot. Peer pressure is bound to affect most of us, both, positively and . The distinction between positive and negative peer pressure lies in a thoughtful
analysis of the views of the masses. Following your peers leaves a negative impact on your life while an analytical approach of looking at peer behavior can act
positively. Let us look at the positive and negative effects of peer pressure.

television and other of life

Options:

1) walks

2) cakes

3) notion

4) ideas

Correct Answer: walks
Candidate Answer: notion

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The thoughts, behavior and tastes of fashion, music, television and other of life of the masses are often seen having a impact on the living of the
society. We tend to get influenced by the lifestyles of our peer group. The changing ways of life of our peers often us to change our ways of looking at life and
leading it. It's a human tendency to do what the crowd does. Few have the courage to resist the peer pressure and be their own selves rather than being one among
the lot. Peer pressure is bound to affect most of us, both, positively and . The distinction between positive and negative peer pressure lies in a thoughtful
analysis of the views of the masses. Following your peers leaves a negative impact on your life while an analytical approach of looking at peer behavior can act
positively. Let us look at the positive and negative effects of peer pressure.

a impact on the living

Options:
1) mere
2) deep
3) follow
4) slow

Correct Answer: deep
Candidate Answer: deep

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The thoughts, behavior and tastes of fashion, music, television and other of life of the masses are often seen having a impact on the living of the
society. We tend to get influenced by the lifestyles of our peer group. The changing ways of life of our peers often us to change our ways of looking at life and
leading it. It's a human tendency to do what the crowd does. Few have the courage to resist the peer pressure and be their own selves rather than being one among
the lot. Peer pressure is bound to affect most of us, both, positively and . The distinction between positive and negative peer pressure lies in a thoughtful
analysis of the views of the masses. Following your peers leaves a negative impact on your life while an analytical approach of looking at peer behavior can act
positively. Let us look at the positive and negative effects of peer pressure.

peers often us to change

Options:
1) reduce

2) converse
3) force

4) relates
Correct Answer: force
Candidate Answer: force

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The thoughts, behavior and tastes of fashion, music, television and other of life of the masses are often seen having a impact on the living of the
society. We tend to get influenced by the lifestyles of our peer group. The changing ways of life of our peers often us to change our ways of looking at life and
leading it. It's a human tendency to do what the crowd does. Few have the courage to resist the peer pressure and be their own selves rather than being one among
the lot. Peer pressure is bound to affect most of us, both, positively and . The distinction between positive and negative peer pressure lies in a thoughtful
analysis of the views of the masses. Following your peers leaves a negative impact on your life while an analytical approach of looking at peer behavior can act
positively. Let us look at the positive and negative effects of peer pressure.

both, positively and

Options:
1) positively

2) neutral
3) indifferent

4) negatively
Correct Answer: negatively
Candidate Answer: negatively




QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The thoughts, behavior and tastes of fashion, music, television and other of life of the masses are often seen having a impact on the living of the
society. We tend to get influenced by the lifestyles of our peer group. The changing ways of life of our peers often ___ us to change our ways of looking at life and
leading it. It's a human tendency to do what the crowd does. Few have the courage to resist the peer pressure and be their own selves rather than being one among
the lot. Peer pressure is bound to affect most of us, both, positively and . The distinction between positive and negative peer pressure lies in a thoughtful
analysis of the views of the masses. Following your peers leaves a negative impact on your life while an analytical approach of looking at peer behavior can act
positively. Let us look at the positive and negative effects of peer pressure.

Following your peers leaves a

Options:
1) blindly

2) effectively
3) rarely

4) surely
Correct Answer: blindly
Candidate Answer: blindly

QID : 76 - What is the full form of GNP?
S <l g1 &9 T &2

Options:
1) Great Net Product
Je e vieae

2) Gross National Product
pIREREC

3) Great National Product
T2 A TS

4) Gross Net Product
PIEE e cE

Correct Answer: Gross National Product

T A3 Tisae

Candidate Answer: Gross National Product
T A Hisae

QID : 77 - Development promises a real growth by enhancing

T fh & ot TTaT e IR arafaes g T a= AT 81

Options:

1) Total income

Gl 3T

2) Standard of living

Sitg W

3) Total income and standard of living boths
Sl ST T Sfia TR a1

4) Neither total income nor standard of living
T et 3T 7 &Y Sha 'R

Correct Answer: Total income and standard of living boths
Pl ST AT Sfia TR &t

Candidate Answer: Total income and standard of living boths
Pt SATT AT Sfia TR ST

of a person.

QID : 78 - How many fundamental duties does part IV-A of Indian constitution specifies?

AR G 1 9T IV-A e Hiferes shden fEE e 82
Options:

15

2)7

3)11

4) 31

Correct Answer: 11

Candidate Answer: 7

QID : 79 - In order to make a bill into a law it is required to pass through ____.

forelt frdaren Y i e & g S Y Aol s 21
Options:
1) Only Lok Sabha
et olieh 9T
2) Only Rajya Sabha
G GHT
3) Both Lok and Rajya Sabha
T TAT IT THT &AL
4) Either Lok Sabha or Rajya Sabha
T SN AT T AT FAT

Correct Answer: Both Lok and Rajya Sabha
AR AT TAT T FAT L

Candidate Answer: Both Lok and Rajya Sabha
AR AT FUT AT JAT L




QID : 80 - Which ancient city of Indus-Valley Civilization was famous for its dock yard?

fReg oY Fozran oAt e A1 I QTER U S o folg uflg am?

Options:
1) Dholavira
TATeRT

2) Lothal
KIBC

3) Chanhudaro
4) Mdhenjo-daro
HigeTes!

Correct Answer: Lothal
e

Candidate Answer: Lothal
GIPE

QID : 81 - In which year did Mahatma Gandhi gane a call for a Satyagraha against the Rowlatt Act?

ora o & mgreA Tieft A Aere rfAfm & AT IATwg 1 SiaTe iR ar?

Options:
1) 1915
2) 1919
3) 1923
4) 1909

Correct Answer: 1919
Candidate Answer: 1919

QID : 82 - Winter solstice occurs on which date of the year?

Ty & forg fafd & <fia simaia glar 82

Options:
1) 21 March
21 91

2) 23 September
23 AR

3) 21 June
215

4) 22 December
22

Correct Answer: 22 December
22

Candidate Answer: 22 December
22

QID : 83 - Which is the second largest continent of the world after Asia?

TR & aTE % T TERT Yol SIS HEIA i G182
Options:

1) North America

It SRt

2) South America
farof srfket

3) Africa

3TvhieRT

4) Europe

Correct Answer: Africa

Candidate Answer: [ NOT ANSWERED |

QID : 84 - What is small leaf like structures of a flower called?

Tuq el SIS Uty & TRE e aredt unT R gt 82

Options:

1) Sepals
CIHEC]

2) Petgls

3) Pistil
LZICNN
4) Stamens

Correct Answer: Sepals
drglaet
Candidate Answer: Petals




QID : 85 - The balance of CO5 and O, in atmosphere is due to

IGAVEA A P SEIHTITES SR SiieRiTo & Tgel BRI gl
Options:
1) Transportation

2) Photosynthesis
RIS !

3) Respiration
Hqaq

4) Evaporation
qrficReoT

Correct Answer: Photosynthesis
U1 G

Candidate Answer: Photosynthesis
USRI G

QID : 86 - Excretion means

Iei 1 aref gl

Options:
1) Removal of substances present in excess
AT H Hisfe werdt &
2) Formation of those substances that have some role in the body
T verf o fmfor Sifes iR A o sfften Fara §
3) Removal of such substances that have never been part of the body
Y geref o1 R St Y SRR T AT e BT &
4) All options are correct
goft faepera ot €

Correct Answer: Removal of substances present in excess
f a7 fAsehTE

AT H Hiele Uer &r
Candidate Answer: Removal of substances present in excess
A A Hijg verf et Frsenra

QID : 87 - Which is the correct order of decreasing friction?

U7 T T gl o DI 9T 8?7

Options:

1) Static friction > Sliding friction > Rolling friction
s axfor > quf efor > eefAe axfor

2) Static friction > Rolling friction > Sliding friction
wifdes Tt > Stefe Tfor > guf efor

3) Rolling friction > Sliding friction > Static friction
dtef e Teior > ot Tefor > @i oy

4) Sliding friction > Rolling friction > Static friction

> >

Correct Answer: Static friction > Sliding friction > Rolling friction
> g oo > T

Candidate Answer: Static friction > Rolling friction > Sliding friction
> dtef~en Tefor >

QID : 88 - A steam engine converts the heat energy of steam into

TG YIS IR FHT SO Bl Faeaar gl
Options:
1) Electrical energy
Fett
2) Chemical energy
RS el

3) Mechanical energy
if>reh et

4) Thermal energy
A HTi
Correct Answer: Mechanical energy

Candidate Answer: Mechanical energy

QID : 89 - What is the full form of ASCII?

T. g9, 9. o77E. g, o Srdfaa ®U & §?

Options:

1) American Standard Code for Internet Interchange

2) American Standard Code for Information Interchange

SR WUSE HIS R TTHEHE Fe3ael

3) American Standard Code for Information International

IAREA RUSE HIS BR FTHMA A

4) American Standard Code for Internet International

IARE WUSE HIS BR e e

Correct Answer: American Standard Code for Information Interchange

IARET RUeS His BR FTHFERM eas




Candidate Answer: American Standard Code for Information Interchange
S IR FTRML 3

QID : 90 - Metallurgy is the process of .

IR Qb UfRaT 81

Options:

1) Extracting metals from the Ore

ST § YTga o fAseRtfor

2) Roasting the Ore

SR & o Bl

3) Liquefaction of metals

&I T ALATRROT T

4) Adding metal to the Ore in blast furnace
T T | HiSlE S1a%eh H U1g Aem &

Correct Answer: Extracting metals from the Ore
SR § T3 & FsehwoT A

Candidate Answer: Extracting metals from the Ore
ST G Urgeit &

QID : 91 - Metals have .

gl et I

Options:

1) High melting and boiling point
T SR FE2HIc 3= gial &

2) Low melting and boiling point
T SR g

3) High melting and low boiling point
T I SR gais e glar g

4) Low melting and high boiling point
T T SR gaeie S gt 8
Correct Answer: High melting and boiling point
Toich SR FaYHich 3= gal &

Candidate Answer: High melting and boiling point
Tefich 3R EEeich I= 21T &

QID : 92 - What is the water which is suitable for drinking called?

h & foIg Iugh STt ol R wEd 82
Options:

1) Potable water

o ST

2) Portable water
STl
3) Pure water
UG ol
4) Sterile water
STt

Correct Answer: Potable water
T e

Candidate Answer: Potable water
0 e

QID : 93 - Which among the following considered to be the financial turn around and rival package for electricity distribution companies of India?

FrafafEa & & fnd wRa & ferstelt fraror dafat & o fnfla ot ofi ofag £ 8t & =0 & A S 82

Options:
1) VAT
e

2) UDAAN

IsH

3) UDAY

3T

4) UJALA

KRNI

Correct Answer: UDAY
35T

Candidate Answer: UDAY
3

QID : 94 - Who invented the first modern electrical air conditioning unit?

T ST Al araTggees SerTs i STITIShIRe BhiF 87
Options:

1) Karl Benz

et do

2) Robert W. Wilson
N socy, oo
3) Willis Carrier
fafera &R

4) Charles M. Hall
e gH. gl




Correct Answer: Willis Carrier

Candidate Answer: Willis Carrier

QID : 95 - Which country will host the 2018 FIFA Football World Cup?

I 1 37 2018 I Fealel aes hd hl AT ehtll?

Options:
1) Brazil
Eiic]

2) Russia
&g

3) Germany
SR

4) England
EIE

Correct Answer: Russia
&9

Candidate Answer: Brazil

QID : 96 - Alpana is a traditional folk art of which state?

3T fohT =g il URURe wieh el &7
Options:
1) Maharashtra

HERTY

2) West Bengal
Ui e

3) Karnataka
FAfeh

4) Rajasthan
TSRAA

Correct Answer: West Bengal
3
Candidate Answer: West Bengal

e
QID : 97 - Which former Union Minister has been awarded with the Japan's imperial decoration ‘Order of the Rising Sun’ award?

orer gd i w3l l ST 3 QT TeTae TSR SiTth & WSROI 9 qREhR & TR fohar T 82
Options:
1) Ashwani Kumar

A AR
2) Manmohan Singh
Aete i

3) L. K. Advani
el &, asarft

4) Sharad Yadav

M gied

Correct Answer: Ashwani Kumar

ST FAR

Candidate Answer: [ NOT ANSWERED |

QID : 98 - Who is the author of book named “Alice in the Wonderland™?

“TfeTe 3 § ai-eXAUE” TR Idch o oIeh i 87

Options:
1) William Shakespeare
faferm eradier

2) Paul Kennedy

Orel et

3) Lewis Carrol

ESENC]

4) George Orwell
et

Correct Answer: Lewis Carrol
Candidate Answer: Lewis Carrol

T59 &

QID : 99 - What is the group of rural women solar engineers from African countries trained under India’s developmental support for harnessing solar energy called?

R &SIt Y ITT A o & g YR & farerrarenit wgai & siarfa affara snhiht def & arftor afger ok SNt & ag At < sgd 87




Options:
1) Solar Sangathan
YR T

2) Solar Samiti
R gfafa

3) Solar Mamas
R 7AE

;%folar System
Tt

Correct Answer: Solar Mamas
IR 7

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - The 250 km Tamu-Kalewa-Kalemyo highway is a gift to Myanmar is built by .

250 5.7, T dr-hetdT-heir] BT8< RIFHR ot Ueh IUER 8, ST zrrfRffa gl
Options:

1) National Highway Authority of India
A FTEG AATRE it 33

2) Military of Myanmar

RIAR I AT

3) Border Roads Organisation

AR AS ARSI

4) None of these

T & S 76l

Correct Answer: Border Roads Organisation

TR A TSR
Candidate Answer: [ NOT ANSWERED ]



